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１ 次の図でDE//ACが成り立つ理由をいいなさい。
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２ 次の図でDE//BC , AB//EFが成り立つ理由をいいなさい。
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３ 次の図でAB//EF , AC//DFが成り立つ理由をいいなさい。
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数学 相似と比
三角形と比の定理の逆
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１ 次の図でDE//ACが成り立つ理由をいいなさい。

BD：DA＝3：6＝1：2・・・①
BE：EC＝2：4＝1：2・・・②
①,②からBD：DA＝BE：ECだから、
DE//AC
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２ 次の図でDE//BC , AB//EFが成り立つ理由をいいなさい。

AD：DB＝4：6＝2：3・・・①
AE：EC＝2：3・・・②
①,②からAD：DB＝AE：ECだから、
DE//BC

CE：EA＝3：2・・・①
CF：FB＝7.5：5＝3：2・・・②
①,②からCE：EA＝CF：FBだから、
AB//EF

CE：CA＝6：10＝3：5・・・①
CF：CB＝9：15＝3：5・・・②
①,②からCE：CA＝CF：CBだから、
AB//EF

BD：BA＝2：5・・・①
BF：BC＝（15－9）：15＝2：5・・・②
①,②からBD：BA＝BF：BCだから、
AC//DF
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３ 次の図でAB//EF , AC//DFが成り立つ理由をいいなさい。
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